
A-A ( 1 : 1 )

21 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

A

B

C

D

E

F

G

H

21 3 4 5 6 7 8 9 10 11 12

www.papacad.com
Sheet

Ver.

Check.

Appr.

Draw.

Engin.

Weight
1 set

Scale Size

Drawing name

Drawing number Revision

Inwestor:

1 /1 

0CB-900 03.00.00.00

papacad

A11 : 1

5,6 kg

2016-05-27
2016-05-27

2016-05-27

2016-05-27
2016-05-27

Conveyor Belt 900mm
Main Assembly

Tension Drum

Name of part

Drawing number, standardQty.
Material Weight

1pcs.
kg

CommentsItem

papacad
3D & 2D CAD PROJECTS
free  &  purchase

papacad
papacad
papacad
papacad

Rev.

A

A

 0A20DIN 125 - A 

5,3

Washer A5.3411

 0A20ISO 4017 - 

M5 x 12

Hex-Head Bolt 

M5x12

410

 0.01A20DIN 7991 - 

M8x20

Hexagon socket 

countersunk head 

cap screw M8x20

49

 0.01 0SKFDeep groove 

bearing 6004-2RS1

28

 0.431.43010CB-900 

00.00.00.01
Bar n16-27527

 0.011.43010CB-900 

03.00.00.04

Plate 3x15x4026

 0.011.43010CB-900 

03.00.00.03

Bar n28, L=525

 0.731.43010CB-900 

03.00.00.02
Bar n20, L=29814

 1.34PA 60CB-900 

03.00.00.01

Drum13

Exec.L1.29wg 

rysunk

u

0CB-900 

03.02.00.00

Tension Drum 

support - 

execution L

12

Exec.P1.291.43010CB-900 

03.01.00.00

Tension Drum 

support - 

execution R

11

Comments:
 
1. Check assemblability.
2. Perform Assembly as shown in drawing.
3. Make a trial motions of individual mechanisms and
    moving parts in order to verify the correctness of installation.
4. Protect against damage and corrosion on time waiting for the main installation.

455

12M

150

2
6
3
`
1
.5

(2
9
1
)

n85

1
1
2

5
0

40°

16
10 85n

275

(291)

306

2
0
 
h
9

n

298

42 H11 ( 00.16+ )n
11

1

2

4

10

11

9

3

7

9

6

268

8

5

10

11

6

25

1
6

n9

2

1

7

7

7


